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Colour-difference formula LABJND 1985 (JND=just noticeable difference)
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a  = x / y     an = xn / yn     b = − 0,4 z / Y     bn = − 0,4 zn / yn [2]

a"  = an + ( a − an) / ( 1 + 0,5 a − an ) [3]

b"  = bn + ( b − bn) / ( 1 + 0,5 b − bn ) [4]
n = D65 or  A (background)

Y  = ( Y1 + Y2 ) / 2       ∆ Y = Y1 − Y2       ∆ a" = a"1 − a"2       ∆ b" = b"1 − b"2 [5]

A1 = 0,0170      A2 = 0,0058 [6]

A3 = 1,0      A4 = 1,8     A0 = 1,5    background D65 [7]

A3 = 1,0      A4 = 1,7     A0 = 1,0    background A [8]

Just noticeable difference (JND) in four colour directions
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) in chromaticity direction cab [4a]


